Chapter 10: Insurance for the Business & Household

Why is Insurance Important
Removes Risk: Insurance removes the risk of financial loss associated with personal and business life i.e. theft, fire, accidental damage, etc.

Dependents: Insurance provides individuals with financial security for their dependents should the policy holder die e.g. life assurance.

Innocent Victims: Insurance is needed to provide compensation to innocent victims who suffer injury or damage as a result of other peoples’ actions.

Saving: insurance is a means of saving for the future.

Economy: insurance companies invest heavily in the Irish economy through the stock market, property, and government stock.

Employment: Insurance companies are major employers in Ireland for example AXA, Eagle Star, Hibernian, FBD, VHI, Quinn Direct/Healthcare.
How to take it out

1. Go to an insurance company (e.g Eagle Star) or to an Insurance Broker (e.g Fitzgeralds Insurances, The Quay, Waterford).  A broker is___________________________________________________________________
2. Fill out a Proposal form which is___________________________________________________________________
3. You must fill out this form honestly and truthfully under the principle of Utmost Good Faith.
4. An Actuary will examine the proposal form. The actuary’s job is to examine the risk and then decide on the premium to be paid. The higher the risk the higher the premium to paid.

5. A premium is:__________________________________________________________________
6. A loading charge may be added for extra risk e.g.__________________________________________________________________
7. A no claims bonus may reduce the premium. It is____________________________________________________________________
8. The insurance policy will be sent out once the premium is paid.

9. A policy sets out the terms of the contract between the insurer and the insured.

10. If an accident occurs than the insured person must fill out a claim form and send it to the insurance company to be compensated.
11. When the claim form is filled out an assessor will inspect the damage and decide if compensation should be paid and if so, how much.
Principles of Insurance

Indemnity

The principle of indemnity states that a profit cannot be made from a loss. The aim of insurance is to put policy-holders in the same financial position as they were before the loss occurred. For example, a two-year-old car that cost €25,000 is involved in an accident and it is written off. The principle of indemnity states that the compensation received will be the current value of the car - not the original €25,000. 

Insurable Interest

The principle of insurable interest states that the insured must have a financial interest in the item to be insured, i.e. the insured person must benefit from the item's existence and suffer by its loss. For example, you cannot insure your neighbour's property.
Utmost Good Faith

Utmost Good Faith means that the person wishing to take out insurance must disclose all material facts and information on the application form and fill it out truthfully and honestly. If any information or facts relating to the cover are left out then the insurance company may refuse to pay out compensation in the event of loss.

Contribution

Contribution means that if you are insured by two or more insurance companies then they will share the compensation paid to you in the event of a loss. This prevents a person from making a profit from insurance. For example if you have you laptop computer stolen on holiday (worth €850) and you have it insured on both your holiday insurance and your home insurance – then you cannot claim from both insurers. The separate insurance companies will contribute half each.

Subrogation

The principle of Subrogation means that once the insured person has received compensation then the insurance company has the right to sue any third party who caused the accident to recover costs.  Also the insurance company has the right to any scrap/property value once compensation has been paid out.  For example, a stolen car is subsequently recovered after compensation was paid out.
Average Clause

Average Clause applies when you are only partly covered and there is partial damage, then you only get partial compensation. See examples below.  In your exam – do out a table like this to complete the question on average clause. Complete the empty boxes below:
	Value of Item
	Partly Insured for
	Fraction Covered 
	Damage
	Compensation Entitled to

	€100000
	€50000
	€50000  = 1
€100000   2
	€20000
	½ of €20000 = €10000

	€90000
	€60000
	€60000 = 2 
€90000   3
	€15000
	2/3 of €15000 = €10000

	€100000
	€75000
	€75000 = 3
€100000  4
	€20000
	¾ of €20000 = €15000

	€90000
	€70000
	€70000 = 7 
€90000    9
	€36000
	7/9 of €36000 = €28000

	€40000
	€30000
	
	€12000
	

	€50000
	€40000
	
	€20000
	


Business Insurance
Recommended:

· Employers’ Liability
· Product Liability

· Public Liability
· Burglary/Theft

· Flooding

· Fidelity Guarantee

· Goods/Cash in transit
· Key person insurance
· Buildings & Contents

· Consequential loss

· Employers’ Liability
· Product Liability

· Public Liability

· Fidelity Guarantee

· Goods/Cash in transit

· Key person insurance
· Consequential loss

By Law you must have:

· Motor insurance

· Third party_______________________________________________________
· Third party, Fire and theft___________________________________________
· Comprehensive____________________________________________________
· Pay Related Social Insurance:_______________________________________
____________________________________________________________________________
Household Insurance
Recommended:

· Buildings and Contents covers________________________________________
· Health Insurance covers____________________________________________
· Life Assurance – 3 types
1. Whole Life covers__________________________________________________

_______________________________________________________________

2. Term Life covers___________________________________________________

_______________________________________________________________

3. Endowment covers__________________________________________________

_______________________________________________________________

· Salary Protection insurance will protect your salary and earnings in the event of you not being able to work for a long period.  
By Law:

· Motor Insurance – all households must take out at least third party insurance when they own a car.
· Pay Related Social Insurance is a compulsory insurance scheme for all employees to provide unemployment benefits on redundancy, maternity benefits and contributory pensions for employees when they retire.

Similarities between Household/Business Insurance

Both businesses and households must:
· Identify Risks_____________________________________________________________
· Shop Around______________________________________________________________
· Minimise Risks____________________________________________________________
· Keep all records up to date, keep insurance policies safe and complete insurance forms
· Obey principles of Insurance_____________________________________________

· Ensure all ____________________ insurances are taken out, for example _____________ insurance and P_________R___________________S________________I_______________
Differences between Household/Business Insurance

While the same principles apply for households and business insurance, there are differences: 

1. Businesses face a wider range of risks than a household, e.g. product liability, 

Employer’s liability. Therefore, they need a greater variety of policies to cover these risks. 

2. Households pay PRSI on income earned. While businesses not only deduct this from their staff's wages, they also pay an additional PRSI contribution for each employee. 

3. Businesses pay higher premiums due to higher risks. Back to the QuestionTip
Risk Management

Using a plan to the handle the risk that the individual or business is exposed to. It involves: 

· Identifying all risks eg the risk of fire, negligence, etc. 

· The risk of the event occurring must be measured. 

· Calculating and managing the costs insurance. The higher the risk then the higher the insurance premium will be e.g young driver, smoker, dangerous business etc.
· Reduce risks by Insurance, Safe procedures, Training of personnel in health and safety.
How to reduce or manage risk

A business might:

· Install alarms and security devices for example issuing staff with passwords and swipe-cards
· Introduce security procedures to prevent losses for example using a security firm to collect cash deposits.
· Introduce safety procedures on a site e.g Safe-Pass from Fas
· Reduce the amount and value of stock held

· Train staff in fire prevention and first aid
· Having contingency plans in place to respond to worst case scenarios

· Lodging cash at different times during the day
A household might:

· Install security devices in the home such as a house alarm, good locks to doors and windows and smoke alarms.
· Adopt a healthy lifestyle and lead active lives to reduce the risks of heart and lung diseases.

· Drive carefully and ensure the home is properly maintained.
· Ban smoking in the household

· Use gas or oil to heat the home instead of a coal fire which can be dangerous 

Chapter 10: Taxation for the Business & Household

How Taxation works

Taxation is a compulsory payment which is collected by the Revenue Commissioners on behalf of the Government.  It provides much needed finance for the government and allows them to provide essential services to the public.  Services the government provides include: paying civil servants/paying social welfare/spending on roads/rail/investment etc.

· Most employees in the country pay taxes on income they earn; PAYE

· They get a certificate of tax credits which reduces the amount of taxes they have to pay

· Those on the minimum wage (around €19000 or under) do not pay any tax on their income

· Everyone else pays tax up to a certain level ( standard rate cut off = €32000 at 20%)
· If you earn above €34000 you will pay tax at 41% for any money earned over €34000
Taxation Forms
P12A

Completed when you begin employment. Employer will give you this form which you complete and send to Revenue Commissioners, who will then issue you and your employer with a certificate of tax credits.
P60 – this form is given to the employee by the employer at the end of December. It shows 

· Gross Pay

· PAYE (for the year)

· PRSI

The employee is entitled to this form by law and it is a useful proof of income, e.g. for mortgage applications.

P45

This is also known as a cessation certificate. It is given by the employer to the employee who leaves his/her job during the tax year.  The P45 ensures tax continuity between jobs as the employee gives it to his new employer.  It shows:

· Gross Pay to date

· PAYE to date

· PRSI to date

· Tax credits used to date

· Personal Public Service Number (PPS no.)

P21

A balancing statement given by the revenue commissioners at the end of the year. It will show if the employee has underpaid or overpaid tax during the year.

Taxes paid by Households

PAYE: (Pay As You Earn) is a tax on employees income. The employer deducts PAYE from the employees income each week/month and sends it to the Revenue Commissioners

Self Assessment: This is paid by self employed people who don’t fit into the normal weekly wage PAYE system e.g. doctors, shop owners.  The person calculates their own tax and pays a preliminary amount by 31 October and the rest by the end of the year. This system gives more freedom to the taxpayer but there are serious penalties for tax evaders.
VAT stands for______________  _______________ __________. It is____________ ________________________________________________________________________

Motor tax is____________________________________________________________

Excise Duty is _________________________________________________________

DIRT stands for __________________ _____________________ ________________ __________. It is a tax on_________________________________________________ ________________________________________________________________________

Capital Gains tax is ____________________________________________________ ________________________________________________.

Capital Acquisitions tax is ______________________________________________ ________________________________________________________________________  
Taxes paid by Businesses

	Corporation tax is:


	VAT is:


	PAYE: is income tax collected by employer from his employees and paid to Revenue Commissioners.

	Employers PRSI: is insurance which employers must pay for every employee they have. It goes towards paying for unemployment payments, pensions, maternity benefits etc. It is calculated as a percentage of Gross pay. 

	Customs/Excise duties are:


	Capital Gains Tax:


	Motor Tax:


	Commercial Rates:


How Tax affects the Business

Increases Work Load: Irish businesses collect 94% of all taxes raised by the government.  Businesses are not paid anything for this and act as unpaid tax collectors for the State.  The cost to a business of collecting taxes can be considerable in terms of time, paperwork, labour costs, training administration staff to use online revenue service.
Increases Costs: higher income tax rates may mean business has to pay higher wages to compensate workers for the extra tax that they are paying. Higher PRSI means more costs for employers also. 
Reduces Profitability: taxes reduce the size of profits that can be ploughed back into the business or paid out in dividends.
Affects Cash-flows: firms cannot delay paying taxes to the Revenue Commissioners.  Therefore firms must accurately anticipate the amount and timing of tax payments to ensure that the businesses cash-flow is not adversely affected.
Influences businesses location: businesses often receive tax incentives for locating in specific regions or areas. This means the business will pay less corporation taxes or rates for locating in underdeveloped or disadvantaged regions. In the late 1980’s some of the biggest financial institutions and banks (e.g. AIB/BOI/PWC/CitiBank/Deutsche Bank etc) in the world were offered very low rates of corporation tax by the government to locate in the Dublin docklands area which is now known as the IFSC. The IFSC now employs around 10,000 people.
Affects Investment decisions: some investment decisions may help businesses reduce the tax they have to pay while other decisions may increase the tax they have to pay.
Similarities and Differences between Household/Business Taxation

	Similarities


	Differences



	· Both businesses and households must:

· Register for tax with the tax office.

· Fill in all relevant forms.

· Seek legal ways to reduce the tax they have to pay.

· Pay correct amount of taxes e.g. income, VAT or Corporation Taxes.

· Keep proper financial records of incomes earned and taxes paid.

· Co-operate with random tax audits by the Revenue Commissioners to ensure the correct amount of tax is being paid.


	· Businesses must collect and pay more taxes than households.

· Every business must manage their cash flow carefully to ensure that tax payments are made on time.

· Households can look for tax credits whereas businesses look for tax relief to reduce tax.

· A business is entitled to claim VAT refunds but households are not.

· Businesses act as unpaid tax collectors for the government, collecting VAT, PAYE, PRSI and corporation taxes, households do not.




Income Tax Computation

Dan is a builder and earns €49,000 gross pay per year.  He is a single man and therefore will pay 20% tax on income up to €34000 – any income earned over this amount and he will pay tax at 41%. 
His Tax Credits are as follows:

Personal Tax Credit

€ 1760

PAYE Tax Credit

€ 1760

Trade Union Subs

€     60

Rent Tax Credit

€   360


Total Tax Credits

€ 3,940

As he earns €49000, he will pay tax at 20% on the first €34,000 and at 41% on the rest which is €15000 (€49000 - €34000).

Tax Payable:
€34,000 x 20% =
€6,800



€15,000 x 41% = 
€6,150


Tax Payable before Credits

€12,950

Deduct Tax Credits:


(€ 3,940)

Tax Payable after Credits

€ 9,010

This leaves a net salary of €49,000 - €9,010 = €39,990

